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A2 BAOZ MHIA HZ2(EH/BEHAAZ)

G BAHoE omZe = (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 58,320 61,560 N 3,240
01 AIXSHMENMNEX= 58,320 61,560 N 3,240

ogAAL NEAA =& 58,320

BAHRZ A LolAH22E 58,880 73,600 N 14,720
308 XX GHHM SO0l & 58,880 73,600 N 14,720
01 AIKISHHENEXZ 58,880 73,600 N 14,720

OBAHAZ A LolAH2422 58,880

BAHAXA 89 2435 72,000 72,000 0
201 et 9,600 0 9,600
01 AR 2t2l ] 9,600 0 9,600

Obtd & stae] BHXNA T IH 2H 9,600
308 XHXIEHSOIA 62,400 72,000 A 9,600
01 AIXSHMENMNEX= 62,400 72,000 A9,600
oot & st 2 BHXA 2 62,400
HUMETKAME AlA - ZH &#=(=21) 1,413,125 0 1,413,125
J| 1,130,500
& 282,625
403 XX SHHS K20 & 1,413,125 0 1,413,125
J| 1,130,500
o=t 282,625
01 XIS A=Z2E X 1,413,125 0 1,413,125
OHALMEXRKAME E= ALY 1,413,125
J| 1,130,500
& 282,625
2y ogr 2 22 15,118,391 13,194,914 1,923,477
= 647,654
J| 10,448,888
=} 4,021,849

Mo of gh2e| 77,600 77,600 0
202 044l 7,600 7,600 0
01 2L Y| 7,600 7,600 0

O U AAY HTAY =X 7,600
206 M EHl 70,000 70,000 0
01 X Z Hl 70,000 70,000 0
OMolgtdetE 2 70,000

289 2D SHAFY K& 43,000 43,000 0
308 XHXIEH SO0l & 43,000 43,000 0
01 AIXISHHEMNEX= 43,000 43,000 0

O2aE™d 2Dl 2H X 43,000
at2tel o ElXIAIY (2 D) 78,000 37,000 41,000
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. 2 (3H) - A ﬁlgg HDS2
= 78,000
308 AXISHMSOIH 78,000 37,000 41,000
= 78,000
01 HXHHNBIMNEXTS 78,000 37,000 41,000
o%etel o ElXIAFY 78,000
= 78,000
Stdly MOt L MM F 299,600 302,000 N 2,400
307 212t0| & 299,600 302,000 A 2,400
02 DI2tF AAHE X 9,600 12,000 N 2,400
ostdg=aI M 9,600
05 QIZtR E 2 290,000 290,000 0
ostdly ol & X 290,000
A0l SdE2FEH2IXI L 91,478 93,204 N1,726
2)
= 45,739
= 45,739
308 AHXI S M SO0l & 91,478 93,204 N1,726
= 45,739
o= 45,739
01 AXHNBMNEXZ 91,478 93,204 N 1,726
O RHIF &A1 A AH H 91,478
= 45,739
& 45,739
ool flgdns & MSaEL 63,000 63,000 0]
307 QI2t0| ™ 63,000 63,000 0
02 A2t AMAIEE =X 63,000 63,000 0
OMoIx s & 63,000
olol= & dgoler XA 136,598 79,022 57,576
Dl 68,299
o= 68,299
301 dEtE A= 136,598 79,022 57,576
Dl 68,299
& 68,299
01 MBI EXEE G2 136,598 79,022 57,576
OHIVZ2 g ol & ZH| 136,598
Dl 68,299
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ool = & Ay XNAMEX(21) 36,700 36,700 0
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308 AHXI S M SO0l & 36,700 36,700 0
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01 AXHNBMNEXZ 36,700 36,700 0
OWolx & Ao 36,700
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

oI ZeEI 2A2XNA(21) 264,000 198,000 66,000
| 264,000

308 XXX SO0 A 264,000 198,000 66,000
J| 264,000

01 AXSHBAELS 264,000 198,000 66,000
ogzJl2 BHEI 2el X 264,000
| 264,000

SIHYES AA(=21) 11,706,508 10,653, 178 1,053,330
| 8,736,200
< 2,970,308

308 XXM SO0l A 11,706,508 10,653, 178 1,053,330
| 8,736,200
= 2,970,308

01 IXNHHBNEES 11,706,508 10,653, 178 1,053,330
O0&ol HYES 8,776,866
J| 6,549,900
= 2,226,966
odgel HeEEs 2,900, 162
| 2,164,300
< 735,862
OBE 2t F=4tD] 2 & Gl ALY 29,480
J| 22,000
= 7,480

HYESSSEHdH 29(=21) 218,300 210,919 7,381
| 218,300

308 XXX SO0IA 218,300 210,919 7,381
| 218,300

01 AXNHHEBANEES 218,300 210,919 7,381
oHeZES=EdH 29 & 218,300
| 218,300

ANE gsZ A2 Ws(=21) 7,412 0 7,412
= 7,412

201 L2 | 5,960 0 5,960
2 5,960

01 At 22l 5,960 0 5,960
OB AT XD SH| 5,960
= 5,960

202 oddl 1,452 0 1,452
= 1,452

01 = LH o4 1l 1,452 0 1,452
OgstZAr2 s & ASEX A 25| 1,452
= 1,452

Ao NE2HY YAXEH (2 D) 5,400 3,000 2,400
= 2,700
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301 LEtE A= 5,400 3,000 2,400
= 2,700
< 2,700
01 A3l EE E 56l 3 5,400 3,000 2,400
oZelXzzgd A= 5,400
= 2,700
< 2,700
H2ZA292ZH(=1) 34,600 29,240 5,360
= 17,300
< 17,300
201 et 10,000 14,000 A 4,000
= 5,000
< 5,000
01 At 22l 10,000 14,000 A 4,000
OH=ZAa 288 e 222 M 10,000
= 5,000
= 5,000
301 gt L= 24,600 15,240 9,360
= 12,300
< 12,300
01 A3l EE E 56l = 24,600 15,240 9,360
OHEZANYZINZ 22 24,600
= 12,300
< 12,300
SHAIQITIGH AL RAZAL & 22X (=1) 151,200 136,800 14,400
= 151,200
308 XXM SO0l A 151,200 136,800 14,400
= 151,200
01 IXNHHBANEES 151,200 136,800 14,400
OSHMIOITI AL TIGHA MEX2Z 151,200
= 151,200
22 FNTPIT R (=1)(HE) 3,437 3,492 A b5
= 3,437
201 Let24d] 3,437 3,492 A 55
= 3,437
01 AP 2teltl 3,437 3,492 A 55
OZZEEEIN U= 3,437
= 3,437
Zggae] FMTPIT s (=21) 61,866 62,856 A 990
= 61,866
308 XXM S0 A 61,866 62,856 A 990
= 61,866
01 AXNSGHBLAEES 61,866 62,856 A 990
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oZgY M2 U=s 61,866
= 61,866
AMETWEs 2l 2elesEd(=21) 9,000 9,000 0
Dl 4,500
& 4,500
201 et | 9,000 9,000 0
Jl 4,500
& 4,500
03 S AIS H H 9,000 0 9,000
odEZZIY o2Acts uesd 9,000
Dl 4,500
= 4,500
MEHY =SSR 18 Y S| (21) 25,500 4,300 21,200
J| 17,000
& 8,500
308 Xt &M S0l & 25,500 4,300 21,200
J| 17,000
o= 8,500
01 AXHNBMNEXZ 25,500 4,300 21,200
MEHXH S 22=H 25,500
Jl 17,000
& 8,500
MEHY OIZSZAMA 2EXK(21) 11,400 11,400 0
Dl 5,700
= 5,700
402 QI2v X2 0| & 11,400 11,400 0
Dl 5,700
= 5,700
03 I 2HCH & AL HI 11,400 11,400 0
OMZHH OISZAIMA S IX 11,400
J| 5,700
o= 5,700
WasHsgm 2990 AN (=212) 280,000 0 280,000
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ogzE=ZgEy 2g8Y oy XA 280,000
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HE9IE XN9HE 22 (=21) 2,600 0 2,600
Il 2,600
308 XX SHHSOIH 2,600 0 2,600
J| 2,600
01 AXHNBNMNEXZ 2,600 0 2,600
OMESHHAMH HsYAE NEHE 29 A& 2,600




\I|_./ o o o o o o o o (@) (@) o o o o N~ (@] o (] o
oF S S S S S S 3
_|_._A||_ - - - - -
= | Ao 3 3 3 o o o )
1 Ko - A A ©
aJ
o
E=]
o o o o o o o o o o o o o o Y] o o o o o o
o o o o o © © [¢e) o o o — o o o o o o
O o o [¢e] [de] [Ye) Y] [Te) [ [ [ [<e] (V] (V] (V] o o o
N RN 7o) 7o) 7o) ~ o | o |o o |lo |o
[e] -
uilEd] -
RS
(e») o o o o o o o o O o O o o O o O o O o o O o O o O o o O AN O O © o o o o o o o o
(=] o o o o o o o o O o O o o O o O o O o o O o O o O o o O — O O O o o o o o o o o
ClO©|S|S ©|®|© ©S OSSO SO Wm|IL BB OO~ NINNINNRNOODSA|N|NIN S J|S|3 ]|
(@N] [aV] [aV) [aV) [V} o O o O o o O o o o] o o Al ©O O M (o] (o] (o] [aN] [ o o o
© OO OO O OO BB B|L O W R 98 x ESE RS RS SRS ® | D |©
3 8 oo
<
(=
~ ~ =~ ~ ~ ~ =~ ~ = = =
Pl _
o ° ulo
or % 3) T B ~
0|~
X0 R 80 L] = A” E o
al 0 o | ot M|~ = w
- i0) i o= = B U 70 _
31 o 5 | ok L = %0 RJ %
o - = Z = = R0 0o
=< o 20 o | b 30 N 30 5 o
I+ 00 iof =D < 0H E 0H = S Sl
= o0 >3 - — ~ — o o<
: o M oo | of 3 = = = A B K
= = T|w = A0 = il oF &I
= Jo ~ m - [ = 1T — 0 _ =
5 0 - K= | = K R = m = A0 0 Ki O oK | o
S| = = = |®|H =2 |x M W o B o 50 = H R |R|R
el S |2 50 )] i 4+ B0 i 0 " o A I
& |5 |z mluo[m0 @ | =z R o R 80 b AL = =z A0 S | uo
K . _|®m|ln T ||l T|r pdl 0 R il 20 R0 A0 50 5 bl N E I B
I = N/ T s Y e S R A 30 iy M ® 30 5 = M ELEEE I
= Rl S l3lor | R |r 0| oyl A A0 o o B0 20 o = 10 = ol IV VI Y =
RO Tl | O|R|R OfR al o) O Gl ol < O il <) m O ) Mla|a © O [K | &
0 0l B0 . Tl=|= o | = ~ N & —~ —~ Al ~ —~ 0 PN U | o
s | T S s |° ~ s |° It s |° I ST ) 5l | 3|7 4|3
H RN AD r 2 rir a1 a1 20 Kr =
. 0
oF
aJ




<

n0

Kio

Hl w

N4, 279

N4,279
N4, 279

2,420

H3r
Wikd
RIS

49,500
3,500
3,500

46,000
46,000

408,002

408,002
408,002

203,000

3,000

3,000

10,000

10,000

190,000

190,000

6,848,597

Off &t 24

40,200
40,200
40,200
59,400

49,500
3,500
3,500
3,500

46,000
46,000
46,000

403,723

403,723
403,723
403,723
403,723
403,723
403,723

Il
Jl
Jl

203,000
101,500
101,500

y

H

3,000
1,500
1,500
3,000
3,000
1,500
1,500
10,000
5,000
5,000
10,000
10,000
5,000
5,000
190,000
95,000
95,000
190,000
190,000
95,000
95,000

6,851,017

J|

H

Jl

H

Jl

I

J|

H

J|

H

Jl

H

tel AMBlA M3

[

K/
A0

o)
Pl
R

nl
Rl

01 SLHO I

202 o4 Hl

KF

ok

KJ
Klo
n0

Y

n

307 21201 &

Ki
iy
&l

<0
R0
~J

oJ

el
i

30
0
wr

ok
xr
i3]
K

Kq
~0
Gy

iio}

ar

|

=

or&
FRA K2

=

=)

O XIS At

308 A+XIEHH
01 &tX

KD

0D

)

ar

&0
3]
oJ
oll

01 At 22l bl

K

70D

202 04l

01 SLHOYI

O

oD

307 glzZtol &

i
wr

Ok

-

~

ol

30
(g

[l

76D

o)

o}

ar




SN BAFYY
PN

M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
Ce BaA22e MHA M3 (&)
SA - BB B () - MM - BES Ol &t o San HmEET

Jl 5,709,181
< 1,141,836

308 XX EHHSOIA 6,851,017 6,848,597 2,420
J| 5,709,181
< 1,141,836

01 HIXNHHBNEES 6,851,017 6,848,597 2,420
AL SEALSUAMYE K& 6,851,017
J| 5,709,181
< 1,141,836

230 AX LA XY X (=212) 185,499 261,028 AT5,529
J| 164,888
< 20,611

308 XtXIEHH SOl A 185,499 261,028 AT5,529
J| 164,888
< 20,611

01 X HHILEES 185,499 261,028 AT75,529
Ods2s50=c A LerA2HA 185,499
J| 164,888
< 20,611

=230+ AXN MUHESIAXY XA (=2) 39,628 44,501 N4,873
J| 39,628

308 AAIEHHSOIA 39,628 44,501 A4,873
J| 39,628

01 AXSHBLEES 39,628 44,501 N4,873
OA=s0==2 X Mo Z&H X 39,628
J| 39,628

Szt EA gRotA&H NA(21) 23,255 27,000 N3,745
J| 23,255

308 XXM SO0 A 23,255 27,000 N3,745
J| 23,255

01 IXNHHBNEES 23,255 27,000 N3,745
oAz 70 AAH X 23,255
J| 23,255

R0 LN HUYZAH XN (212) 5,281 4,253 1,028
J| 5,281

308 XXIEHHSOIA 5,281 4,253 1,028
J| 5,281

01 AXHHBILEES 5,281 4,253 1,028
OLE T L A& 5,281
J| 5,281

YROIZ A BEHA RA2LlH(=22) 18,000 18,000 0
J| 18,000

308 MtXIEHMSOIH 18,000 18,000 0
J| 18,000




2N
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L= B

el

=2 B ML MBS (BA/E2H9E)
sdAZ el AHA M3

SA - BB B () - MM - BES Ol &t o San HmEET
01 HIXNHHNBHNEES 18,000 18,000 0
OH2ZE =2 18,000
J| 18,000
dE &2 - 2F4H(2 1) 144,800 112,000 32,800
= 90,500
< 54,300
308 XXM SOIA 144,800 112,000 32,800
= 90,500
< 54,300
01 IXNHHBANEES 144,800 112,000 32,800
OZdFTMHAFZAZHE 2HXEA 144,800
= 90,500
< 54,300
UL TTOIT} AL 2E(2D) 159,580 0 159,560
J| 137,500
< 22,080
403 A X EHHS 20l A 159,580 0 159,580
J| 137,500
< 22,080
01 X EHHMA=LE L 159,580 0 159,580
O7&d22d B3e=Ze ANER= 159,580
J| 137,500
< 22,080
Ct2sttd 88 AZd8 X3 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
02 It M AHE X 50,000 50,000 0
OC=aIE 22 ALHA X 50,000
NAMISHSHAIMYA (I D) (EE) 67,006 46,000 21,006
J| 33,503
< 33,503
201 2yt 2 Y| 17,926 43,000 ~25,074
J| 8,963
< 8,963
01 At 22l 17,926 43,000 A 25,074
OXNG A=z HAY =& 17,926
J| 8,963
< 8,963
202 O4dl 3,000 3,000 0
J| 1,500
< 1,500
01 =S LHA YI 3,000 3,000 0
OXI A S AMY =& 3,000
J| 1,500
< 1,500
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M Hdxe BAAZ AHUIA HMs(BA/BAHAAZ)
Ce BaA22e MHA M3 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 46,080 0 46,080
J| 23,040
< 23,040
MIIEBELSS 46,080 0 46,080
ozdsE:s" 29 46,080
J| 23,040
< 23,040
NAAMBSAZHNAAMYIA(Z1) 3,313,358 2,840,244 473,114
J| 2,761,132
< 552,226
308 XXM SO A 3,313,358 2,840,244 473,114
J| 2,761,132
< 552,226
01 IXNSHHBANEES 3,313,358 2,840,244 473,114
OXYAsl S HA A MEI A 3,313,358
J| 2,761,132
< 552,226
HASE 2AHNEZ NN (=ZD) 260,715 322,700 A61,985
J| 260,715
403 UHXISHHE X201 H 260,715 322,700 261,985
J| 260,715
02 SJ| 2SO0l CHSt At =2 X CH & AF & I 260,715 322,700 A61,985
OMASE SHXZ XNEAY 260,715
J| 260,715
Ols&da g & g=&HH XN 428,450 0 428,450
402 BIZHXHE 0| A 428,450 0 428,450
01 2I2F 2 A B (KR ) 428,450 0 428,450
OZ&XE & o=z & 7 N2 428,450
AMEH Y 2H2A XA = 7,674,201 7,426,159 248,042
= 128,000
J| 4,935,843
< 2,610,358
FAEAHAY F& 66,540 67,404 A 864
202 o4dl 7,500 7,500 0
01 = LH o4 1l 7,500 7,500 0
OMBNEH FHa2el =8 7,500
307 21201 A 18,720 20,160 A1,440
02 LAFAAFEX 18,720 20,160 A 1,440
OYACHARMALETHE EAX M2 18,720
308 XX EHSOIA 40,320 39,744 576
01 HIXNHHNBMNEES 40,320 39,744 576
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